
WYATAt 1.2 

1. fazt 

34Tafa 

f fag T 4T: 1094, 1812, 2050, 751 

1094 1812 + 2050 +2751 
-7,707 

.. 



Mathematics-VI 

fTareft 7236 x 56 56 FATT T 65 À 

10,000 T T TTI3 fsa ar 3TayYmT & ? 
3TR-7 TI T TAHI I6I = 10000 

T ? ( qoT *T 
3Tays Ti &) 

3y T5 A = 6980 
GT: 65-56 9 

T R = 10000-6980 3,020 
374 7236 x9= 65124 aft T 

8, aTqrt UTA 78,592 Fo I 3HA 40 

fèng, af 3H faH WAEt3,48,700 

3T-7 FT = 78,592 
qs 4 = 1,200 Fo 

fsa eI = 40 
4a = 1200 x 40=48000 

T E7TfI = 78,592-48000 = 30,592 Fo 

9. g uta z f 2 t 15 AH q 

JHT-57 AN RI AIT Aa = 5,77,500 
Hhe RIINT GRI A = 3,48,700 

= 577500-348700

2,28,800d
4. tf ERÀ Tq HATE Å 2,85,891 

215 
7 = 40 = 4000 HT 
Hts FET = 4000+215 18 
t = 130 H =1 30 

= 2,85,891 

4,00,768 THR 99 99 

3 f = 400768 + 285891 

6,86,659 

400768-285891
= 1,14,877 

3fcat 6, 2, 7, 4 3r 3 * s 4 aG 

T TTT 4 fs 500 m g 7 T 
800 farTà afee aT 4T Fit, 
f H ? 

3TR- TH 1 R = 4 f 500 4 

4500 fe M4 
4T = 800 f = 800 x 1000 

= 800000 M4 I 

Hi H = 8000004500 = 177 1 

37-4 ag tie =76432 
t t= 23467 

a = 76432 23467 52965 

T4, 2006 fai HG = 31 
. K = 2825 x 31 

3H- Btr FT = 1 ft 875 a T Kt = 1875 x 2 -3750 H : fi gI-3750x6 = 22500 = 22.5 fa 
87,575 



12. 4 500 f¥ci zst i 1 250 fuit 
TTTRTT 

3T ET = 4 500 fuet = 4500 f4ct 
freTH qaT = 250 f4t 

. fTaTAT I= 4500+250 = 18.
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